
1) m2 * m20

m17

Answer: ____________

2) $167.00 earning 6% compound 
interest for 3 years.

Answer: ____________

3) Solve by factorising 
f2 + 7f + 10 = 0

Answer: ____________

4)
18  Find Volume of 
               13       Cylinder 

Answer: ____________

5) 10/6 + 15/5

Answer: ____________

6) (1 x 109) x (10 x 12)

Answer: ____________

7) 21/2 ÷ 64/5

Answer: ____________

8) 21/2 ÷ 64/5

Answer: ____________

9) (8 x 1-4) + (7 x 69)

Answer: ____________

10) (-41) - (-19)

Answer: ____________

11) 300 ÷ 100

Answer: ____________

12)
13  Find Volume of 
               11       Cylinder 

Answer: ____________

13) 88.9 - 46.3

Answer: ____________

14) Decrease 50 by 42%

Answer: ____________

15) b

a o c
Measure angle boc 

Answer: ____________
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16) Find area of 
rectangle having 
sides a = 16 cm 
and b = 13 cm

Answer: ____________

17) 94 - 24

Answer: ____________

18) Simplify 13:17

Answer: ____________

19) (n11)15

Answer: ____________

20) Find area of 
rectangle having 
sides a = 63 ft 
and b = 44 ft

Answer: ____________

Total: ___ / 20
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Answers:

1) m5 2) $198.90 3) f = -2 or -5 4) 9556.7248522202 5) 42/3 6) 10000000000 7) 25/68

8) 25/68 9) 70543880 10) -22 11) 3 12) 4941.7252440967 13) 42.6 14) 29

15) 20 16) 208cm 17) 70 18) 13 : 17 19) n165 20) 2772ft
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